GMAT(K-10)

NTSE 2

g‘.

GMAT - 2018 Eu

o

x&% — I/PAPER — | gond — 10/CLASS - 10 E
24

3

mmﬁé 2536@5 maﬂ:cﬁf 5@Q§/GENERAL MENTAL ABILITY TEST

REGISTERNO:| 2 | 4 | 1 [ 1 |8

T 120 do:TNed ‘aOQwﬁ/ﬁﬁ&ﬁ
TIME : 120 MINUTES ENGLISH / KANNADA

nogy wosney : 100
MAX. MARKS : 100

Instructions to Candidates

1. The Question Booklet containing 100 questions and the OMR answer sheet is

given to you.

. All questions are compulsory, each question carries one mark.

. During the examination,

* Read the questions carefully.

» Completely darken/shade the relevant oval against Question No. in the OMR answer sheet,
using blue/black ball point pen. Do not try to alter the entry and not to do any stray
marks on OMR Sheet.

* Ex: In a question paper if No. 3 is the correct answer for Question No. 20, then darken
in OMR answer sheet shade circle 3 using blue/black ball point pen as follows.
200 @ @ @ (This is an example only)

. If more than one oval is darkened for a given question, such answer is treated as

wrong and no marks will be given.

. The candidate and Room Supervisor should sign in the OMR sheet.

. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

. The calculator, mobiles and any other electronic equipments are not allowed inside

the examination hall.

. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.
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GENERAL MENTAL ABILITY TEST
mmss a?at?p% mm;ssr aﬁacg

(Questions : 1 -9)

Directions : Complete the given number /
letter / figure analogy by choosing the correct
answer from the given alternatives.

(FBne> 1-9)

BRWIN : BRLITDH  TOITF ORNYOT
TOOSRT emgwmol 308 a@@gpm 5035%/
©TT/ WIRY RINTR, TROFRALA.

1. 496 : 204 :: 329 : ?
1) 90
2) 110
3) 115
4) 135
2. lﬁ Y @
11 110 156
ne o g2
17 13
3 1 » 1
13 17
3.11 18 32 60 : 17 30 56 108 :: 13 24 46 90 : ?
1) 17 36 68 138
2) 19 30 52 124
3) 19 36 70 136
4) 19 36 70 138

4. FLOWERY :

21012 D 2212 ::

BUNCHE S

1) 25 F 13 X 19V 8
2) 2 F 14 X8V 19
3) 25 H13 P 19 R 8
4) 2H14 P8R 19

5. AWSXC RNJOT :: ?

1) FAVZD
2) DZVAF
3) INRMH
4) DINJF

:UQMRW
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6. EHKAM: YMWTQ :: PWORZ : ?

1) DKCFA
2) BIADL
7.AIIIIh
@
&

)
3) AFCKD
4)

1)

B3

@
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(Question : 10) (B3, : 10)

10. P, Q, R and S are four persons 1.

standing at the corners of a square
park of area 100 m x 100 m. They
move anticlockwise along the edge
of the park by 100 m, 150 m, 200 m
and 250 m respectively. Now in which
direction is Q with respectto S ?

S @ R
P *Q
1) Southeast
2) Southwest
3) Northeast
4) Northwest
(Question : 11) (X3,

11. A person starts from point A and 11.

walks 800 m in the northeast direction
to reach B. Then he turns towards
east and walks 350 m and reaches
C. He then moves in the southwest
direction by 650 m to reach D. He
again moves by 250 m eastward and
reaches E. He now walks 150 m in the
southwest direction and finally arrives
at F. Find the distance between A
and F.

100 ¢ x 100 <R¢ QRCVFT  2.0TH
WOFTFTH emméa’cs’ SIRINYY
P,Q, R S TR, dééﬁeéo Ro2TRT.
QT YVTRET WORRY TS cotmeN
jﬁ:mﬂ 10026, 150 ¢, 200 ¢ 533_39
250 <o¢ BWeT FWAT3 Q B S oo
3= @%ﬁ@ﬁmﬁ ?

MNorth
uE, T

1
2
3
4

@ﬁ&eoﬁ
ﬁédaéé
éwosé

300N,

)
)
)
)

:11)

20 wsgom A DOTHRA0TW BRTED
éwo% &%ﬁg 800 c»¢ WO B oivcﬁ:ez
LTI, VOTT IRTE agﬁg 350 0¢
SE C D, 3T, WwYoW ?36335
a@ﬁg 650 o¢ 302 DR WSz, 3
JRRE a@ﬁg 250 c0¢ R ER 00T
©QoT T FILF QIRO 150 <we FEN
9035HwoN Feﬂabel 3oTHIN. A 0DOT
FR Qs ©RoS) ?



GMAT(K-10)

(Questions : 12 — 16)

Directions : Identify the number of specified
geometric shapes in the given diagrams and
mark the correct answers.

12. How many SQUARES are there in the
given figure ?

13. How many TRIANGLES are there in
the given figure ?

£

14. How many RHOMBUS are there in the

given figure ?

NEDAVAVAVAV

\

O 0 A
(FBnsh : 12-16)
BRWRNY : IR FTOT BINYY
BRUWT /N3O B3N xogﬁéodaabol
TORLRT YBTHI), TSR

12. 34D B330HY ATy WIS 2

1) 23
2) 22
3) 21
4) 20

13. 8RS YIOHY DT, JHWRTE ?

1) 23
2) 22
3) 21
4) 20

14. 3040 SFICLY O TRRFINOI ?

)

16
17
18
19

\‘E\/Bv



GMAT(K-10) N O A

15. How many SEMICIRCLES are therein 15, %,@eécbw esse)gosacg @aﬁ% @;3?%371@5 ?
the given figure ? -

1) 28
2) 26
3) 24
4) 22

16. How many TRAPEZIUMS are there in  16. 3RS eﬁ%&oﬁg QT 53&25571@?3 ?
the given figure ?

N —

\‘Egvv
© ® N O

(Questions : 17 — 18) (@%ﬁ%’»‘o : 17 -18)

Directions : Find the correct mirror images ~ BRUEIN : TRV TIE T oW NN
for the following problem figures choosing ~ FOOJTPW WIF® T,SWOWNF I,
from the alternatives. TOSEOINPOT FOTWEROWD.

2)

—
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(Questions : 19 — 20)

Directions : Find the correct WATER images
for the following problem figures choosing
from the alternatives.

19.

1) 2)

20.

1) 2)

(TBRed : 19 -20)

BRWISNA : BRUTR TTOWSNN
ROCIHT RO TIWONTI),
TOSTE OPNPOT FOWIEEBCAWD.

3) 4)

3) 4)



GMAT(K-10)
(Question : 21)

21. At present a boy’s father is 6 times
older and his grandfather 13 times
older than the boy. If six years later,
the grandfather will be seven times
older than the boy, what is the present
age of the boy’s father ?

1) 36 years 2) 42 years
3) 30 years 4) 48 years
(Question : 22)

22. The present ages of a son and his father
areintheratio 5:21. Four years earlier
their ages were in the ratio 3:19. What
is the present age of the son ?

1) 4 years 2) 6 years

3) 8 years

(Questions : 23 - 32)

Directions : Complete the following number/
letter / figural series by choosing the correct
answer from the given alternatives.

4) 10 years

23. ?, 22, 31, 58, 139, 382

000 0
@% 1 21)

21. W) TWNS SoWeH Tone ST
[OPE TFHIRN W[ HNT [N
6 O Tone 13 SYW. Tod &
STENE 03T IR TOPI TN
[ODAT DYTTRTS, TWNS IoTeH
NS T[RRI, ?
1) 36 IRENLD
3) 30 TREND

(B3, : 22)

22. 20) TR DY) O SoTded SN SdRY
Teo 5121 SN, Ty, RN 0T
WNS [LAY TJeed 3 1 19 BN,
TOMTT SN HNT SBEI, ?

1) 4BREND 2) 6JRENAD
3) 8JIRENYD  4) 10 BRENW

(TBRed : 23 -32)

BRWIN : BRLITVH  TOTF ORNYOT
FOSRT WITHI, B0 FENT FOT/
©FT/3TNY JEINTR), TRFTIODA.

2) 42 JIRENLD
4) 48 IREND

1) 17 2) 18
3) 19 4) 20
24. 12, 9, 27, 23, 92, 87, 2, ?
1) 355, 349 2) 385, 379
3) 425, 419 4) 435, 429
25. 47, 7, 69, 28, ?, ?, 125, 1344, 159, 13440
1) 94, 158 2) 95, 168
3) 95, 178  4) 96, 268
26. 5 25 105 _ 1705
1130 87~ 771
) 425 p) 525
258 261
3) 625 2) 1125
389 760
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27. m_m_n_m_ _nn_
1) mmnnmn 2ymnnmnm
3y nmmmnm 4)nmnmmn
28. WMCS, IYOE, ____, GwWMC

1) UYOE 2) QAKU
3) UKAQ 4)PBJT
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(Question : 33)

33. A, B, C, D, E and F are sitting around

a round table facing its centre.

a. Cisjust left of E

b. Ais the only one between D and E

c. B is sitting opposite to E

d. Dis the only one between A and B

Then where is F sitting?
1) Between B and D
2) Between A and D
3) Between B and C
4) Between A and C

(Question : 34)

34. Six elephants P, Q, R, S, T and U are
weighed. The elephant U is heavier
than R but lighter than T. Elephants P
and S are of same weight. Elephant Q
is lighter than P and R is heavier than
S. Which one of the elephants is the

heaviest ?

—

N
- C T HO

Sl el

S S

(

33.

- .
C

34.

: 33)

A,B,C,D, Eﬁb& F 2,003 3033023
~33' daczﬁa’ FER S0D IR
%a%wgd

a. C oo ECd 3390 QRIZRY Elarky
b. A mgﬁe D =3 Eﬁ:qﬁ’é Elapky

c. Bodn EC® QO0R 3o %mgﬁ
d. ngagﬁc A8 BO® w:z% Elapky

TOMTT F 29 20882
1) B33 D RFTEY
2) A D DFTY
3) B3 CFTY
4) ATB CFTY

34)

P,Q,R, S, T3 Uty sS8NERy,
3R% IREWINE. U @303 R hos
POTTRNT, B3 T NoZ IrvTewnds. P
0T S TBRIT WM. Q I3 P
No3g T[T T R SR8 S NoZ ¢3es.
TMTS BRNTY W03 LRTHT O
SR ?
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(Questions : 35 — 40)
Directions : In the following questions
four groups of numbers / letters / pairs of
numbers are given. Of these,three are alike
and one is different. Find the one which is

different.

37. 1) 12, 156
2) 14, 182
3) 16, 272
4) 18, 342

38. 1) 1,4
2) 2,12
3) 3, 36
4) 4, 80

(Question : 41)

41. fRELIC iscodedas 74365
and ANTHEM as2901 48 then
MERCANTILE can be written
as:

([Bned : 35 -40)
BRWRAL : B FTYNY I I NTQ
getlovinleweldonte xoa%ﬁ@/ﬁQe@ zog%ﬁeé/
WFONG TOOTDNY T, TR CRNTR,
BRLT. YRNTY TP 6O 0ed AT
2.0TD TNT a‘w&mﬁd DI FTONTIORTIY,
TR,
39. 1) LONGITUDINAL

2) TRIBUTARIES

3) AGRICULTURAL

4) MOUNTAINOUS

1) ASYLUM
2) RHYTHM
3) FLYFOT
4) PHYSIC

40.

t41)
41. RELIC 534 74365000 533_:9
ANTHEMabOl 290148 0w

ﬁc@cé%d:ﬂ,MERCANTILEﬁaez
%R TOTFCST[TOITD

1) 8427369054
2) 8439695704
3) 8457630214
4) 8475290634
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(Question : 42)

42. The minute hand of a clock in the
horizontal plane is on the number 6
of the clock and is pointing towards
west. If the hour hand is pointing
towards southeast, what time will the
clock show exactly after three hours
from now ?

1) 1.30 hour
2) 4.30 hour
3) 7.30 hour
4) 10.30 hour

(Questions : 43 — 44)

Directions : To get the correct equation,
choose which set of signs from the given
alternatives to be substituted sequentially in

places of ().

43. 15 % 3 x 5 *x 16 * 41

1= + —
2) + + =
3) — + +
4) + X +
44.13 * 4 % 5 * 12 * 6
1) > + X
2) X + =
3) X + >
4) X + =

00O RO
@% 1 42)

42, OT THIOTODLR 20T NRCATT
RRTT Zeoey, TIYR o3, 63 shedTH
BOH DFR, BAWMIT. notiod =y,
sRecd DR APT NRCIRTR) SNV
TOOSTN ety Noticd [OIT T,
ReDohI, BRWHSTN ?

1) 1.30 o0&l
2) 4.30 Rot3
3) 7.30 oes

4) 10.30 RO

(TZReh : 43 -44)

RRUIN : TOOIWT ANETTEOT|D),
TEODLD BRI 030 zs%olods Meas3,
(*x) INNTY  BTowoN STedTT e
ebomcﬁmel SOTRFODNPOT 304

13
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(Question : 45) (|3, : 45)
45. Directions : When — and=,60 and 45. BRUEINL : — DI =, 60 3302 20 ),
20 are interchanged, find which one of 9D WTEN ZRERTON 3L gfa@é@w
the following equations will be correct. 033033 RWEBTRE) FOOSIDATST

aomzﬁa’)&ol FOTWISRONO.

100-80+60x2 =20
80-20=60x 3+ 80

nN =
R i i

3) 100=80-20+60x2
4) 80=20-60x2 +40
(Question : 46) ([B, : 46)

46. Directions : The interchange of 46. AWM : TOIPF ONTY TR
which of the given numbers / signs in O3 BOLMED/ WHNRTY, VTR
the alternatives will make the given 2T TRRTN BRI RWeTTE)
equation meaningful ? OTE TREIFTONTOZT ?

(20+3)x6+8-32=76
1) 8 and 6 1) 8 VB 6
2) +and - 2) +3B -
3) 3and 8 3) 3 8
4) x and + 4) x B +
(Question : 47) (B3, : 47)
47. Direction : 47. BRWIN :
If V stands for x V o3 xe338
A stands for + A O30 + 33
v stands for — V O30 —e3w3d
A stands for + A O30 =+ =333
Then, which of the following will be correct 33 FPNT O30T WOTH BeWCBTEITY TOBTN
equations ? QTIH ?

72 p 64 A 16 <16 V 8 V 72
48 A 12 V 16 > 80 Vv 32 AN 24
72 A 24V 8 <48 N16V 32

16 V 8 V 72 >80 A 8 A 48
14
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(Questions : 48 - 49)

Directions : The following Venn diagrams
represent the relation among four given
objects. Indicate the appropriate Venn

diagram to represent the relationship.

@ @

A B

48. Quadrilaterals, Rhombus,

Parallelograms, Squares

1) A
2) B
3) C
4) D
49. Grandmothers, Sisters, Mothers,
Sisters-in-law
1) D
2) C
3) B
4) A

15

000 0
(B3 : 48 - 49)
BRInee 85 TYNT BT 3TN Toey
BRNINVE  FOWOTBI, RRWROTS.
83 ROWOTHI, BPWRB FOOIRT F°
WITZ, TSR

C D

48. WSRDEWNTD, [T SN,
TTTOTO0ST 3BoPeWNLD, 2INED

49. @%osm, DRRCTOCHTY, S0P,
OIR-TONCLD
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(Questions : 50 — 51)
Directions : There are 120 students in a

class. Among them,

a.

50.

51.

20 students play both hockey and
kabaddi, as well the same number of
students play only football.

25 students play both hockey and
football.

15 students play both football and
kabaddi.

The number of students who play only
hockey are the same as the number of
students who do not play any of the three
games.

The number of students who play only
hockey is half of the number of students
who play football only.

How many students play only
kabaddi ?

1) 10
2) 20
3) 30
4) 40

How many students do not play any

of the three games ?

—

N
N = = O

o

\‘B@/vv

(ZBnes :

50 — 51)

BRWINY @ WO ITNECDY 120
ébme@me?mgp. ©RTY,

o O

a.

50.

20 ébméc;érmfa Td  WIBY 5&)%
QOTR SEINYI, SWTIT TN WTE
m@%osa DTRHFNHN FDEFLRS” TP,
Slevepiel

25 @m@rmﬂo 0 WB FOLF LS
NVBH SETT.

15 QTR TP RS DD WG
NTBL SETIT.

TOSODTY, W|RTY, SWRHT  FOB0I
R SN ﬁe}% CIPP TR, BW3e
JIB/RIT FOBR HITONTOTT.
TOFONZ), B[RT, BWT VTRHFNT
BOSBOID TP [T, BWIHT
BOBO BT BRI,

AT, ;scr%@?ma %w%oﬁ:ﬁ:el L]
e:scé:agd ?

51. O ésmz@?rieéa TRTR B8NS ﬁéé

SIRPYTRR, SHROG ?
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(Questions : 52 — 53)

Directions : Take the given statements as
true and decide which of the conclusions

logically follow from the statements.

52. Statements :

53.

a. All buses are ships.

b. All ships are aeroplanes.
Conclusions :

I. Some aeroplanes are ships.

Il. All buses are aeroplanes.

1) Only conclusion | follows
2) Only conclusion Il follows
3) Both conclusions | and Il follow

4) Neither conclusion | nor Il follows

Statements :
a. All sparrows are crows.

b. Some pigeons are sparrows.

Conclusions :
I. Some crows are pigeons.

[I. All pigeons are sparrows.

1) Only conclusion | follows
2) Only conclusion Il follows
3)

4)

Both conclusions | and Il follow

Neither conclusion | nor Il follows

17

(ZBnes :

52 — 53)

BAWNAL : TYR RIS Hevsnsd RO
QOTH VWA, OIVT JEDFONR) ToFE FzooN
mdmmgd QOTD JABFOA.

52. eLIND :

53.

a. AR w@ﬁm DBOND.
b. DR TTONERL QTIIND.

QTN :
l. 30 NRPIND BIMIND.
Il e wzgﬁm QTIOINEO.

1) 360 QPFCD | YDBORITI

2) 3RO QeeFOD Il OO

3) QEFORTIY 13D 1l TER
CVTeRIcY

4) QREON | ¥TPH0 Il 0ITPR) TR
WRIOWPHOY

LIRS :

a. U RN NN,

b. 305 TROTVEND roWRED.

QEDTODNE. -
l. 30 TOANY ToOzoPNL.
Il TP TOTENRD THLINED.

1) $em© s o | @mmgcs

2) 3eTO QFCD Il RO

3) QD ORND |a’>333 I QTER
OO

4) VRFON | ¥FTHO I 0ITPR)TR
ORTORPOY
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(Questions : 54 — 55)

Directions : Find the set of figures which
have similar characteristics , choosing from
the given alternatives.

RO O
(JBnss © 54 - 55)
BRWNAL : 33 IYR IRLWR WINTYY
TBUCLITOBH THEOVBEONEVY, 2N MEOTI,
TVOZVEOPNYOT B0 BOTWIEEBOND.

Eoviva Ny

(Questions : 56 — 58)
Directions : Identify the wrong number /

group of letters in the series .

D E F

1) Am3) D
2) CHRHE
3) D& F
4) B3 F
(3% : 56 - 58)

2RUSRY : BYDS ZeBnvY I
%083, / 93BN OB, FOTERROWO.

56. 5, 35, 220, 1050, 4200

1) 35
2) 220
3) 1050
4) 4200

18
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57. 256, 343, 64, 49, 16, 7, 2, 1
1) 256
2) 49
3) 2
4) 1
58. YWTPZ, VTQMW, SQNJT, PNLIQ, MKHDN
1) PNLIQ
2) SQNJT
3) VIQMW
4) YWTPZ
(Question : 59) ([3, : 59)

59. The difference between two numbers 59. QT 5033571%3 563355 6 DIy WwIYne
is 6 and the average of their squares RINENS TR0 234. TOMWT & AT
is 234. What is the average of the two ﬁo&%ﬁ@é RoOEO T, ?
numbers ?

1) 13 2) 15

3) 16 4) 18
(Questions : 60 — 63) (g%mfo : 60 —63)
Directions : Find the missing numberinthe ~ BRWIN : TR TIT TR TNYY
given matrices . aﬁ@%&meﬂ&d 50@323053:})01 TOTILEROWO.

60. 10 12 29 61. 128 76 14
22 8 27 132 58 18
32 14 ? 137 ? 23
1) 31 2) 34 1) 74 2) 72
3) 38 4) 44 3) 64 4) 60

62. 87 42 19 63. 9 6 39
93 63 13 12 13 ?

31 ? 8 5 14 43
37 36 2

1) 50 2) 62
1) 13 2) 14

3) 63 4) 69

3) 15 4) 16
19
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(Questions : 64 — 67) (@%ﬁ@o : 64 - 67)
Directions : Find the missing part of the ~ ZRUEIN : FRL TIN BT ENY Y
given figure from the alternatives. VWY TRENTIT BTT HINWI Y,

TOIVEFODNLOT FOTEBOWO.

A

1) 2) g 4)
65.
/ /
L >
/N 1) 2) 3) 4)
66.
N
7N
1) 2) 3) 4)
B B XD &8
1) 2) 3) 4)

20
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(Question : 68)
68. In this problem,
i. A <B means A is daughter of B

ii. A>B means A is son of B
iii. A =B means A is brother of B
iv. A + B means A is father of B
Which of the following indicates “P is

grandson of S” ?
1) P=Q<R+S
3) P+Q=R>S
(Questions : 69 — 72)
Directions : In the questions below, the

numbers in the figures are related. Identify
their relationship and find the missing

numbers in the given series.

L\3\\273

1) 316
2) 396
3) 416
4) 476

R 0 O
@% : 68)
68. 33 sw:%o&cg,
i. A<BoO®R3 Ao Bod &onsh
ii. A>Bo0ow3 Ao Bod i
iii. A =B0E3 AS» Boh 33R6TT
iv. A+ BQOE3 Aosw Bon 303

& IINSIINGY BRI “P B0 ST
mm@n” QOTH BRWDITN ?
2) P>Q=R<S
4) P<Q+R=S
TB;N 1 69-72)
BRENA® 1 B3 IR IRWHI TINYY
SERTEIeNby ﬁogﬁémfo ROWOTTWI,

BROD. B3 FOWOTBI, MR WINTY
REDTRENTOT FOBATRY, SO EROWO.
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71. 101 0 4 14 | | 12 16 | 10
|:( 54 }:J |:( 110 }:J 1 ? I:J
8 ™ 6 8 ™ 8 14 ™1 8
) 132 2) 154
3) 168 4) 184
79 84 128 168
72 18 70 14 96 12
12 16 14
1) 208 2) 178
3) 164 4) 144
(Questions : 73 — 74) (TBRed : 73-74)

Directions : In the questions below, a ~ ZREIJNL : 55 TR BRWHNT IJNEY
problem figure is given. The problem figure  2.,0T T[TV WS, 3RET. B3 GHPRAIEY)
is hidden in one of the figures given as  3RLTOT JOIWFCD WY oﬂé% C3RRYTNE
alternatives. Find the figure in which the  20TTY BN, 03T BCITF O WBTTY
problem figure is hidden. DT VB/NT DOLVTI), FOTWELROWD.

73.

oo omomowm s om om o

T M S m o o o o o

22



GMAT(K-10)

(Questions : 75 — 76)

Directions : In the following questions, a set
of numbers is given. From the alternatives,
choose the set which is similar to the

given set.

75. 81, 144, 225
1) 169, 484, 529
2) 625, 676, 841
3) 729, 784, 961
4) 441, 784, 841

(Question : 77)

77. In a leap year the new year day
celebration is on a wednesday. What
day will be the teachers’ day in
the same year? (as per English

calendar)

1) Sunday

2) Wednesday
3) Friday

4) Saturday

(Question : 78)

78. In a code language, if H A T can be
codedasJAR and WE as IS, inthe
same code, J U G can be written as :

(BB : 75-76)

BRUEIN @ 85 IR IR TINRYY
2,000 FOW, HIIRTTII), TRLT.
TOJTVF ONNYOT %@@ézﬁosﬁ ﬁﬁm%%
TN zo;m23 ATDRBIW, SOA.

76. 315, 210, 35
1) 261, 87, 29
2) 288, 192, 32
3) 225, 75, 25
4) 207, 68, 23

1 77)

77. 20T VT STAFTY BRI BRET
QT0BETHBOIN LNPR0THOTT, LITIC
BRE STFT LJITERODT), O3
OFT SWORCMRZYT 7 ([N
SGOBT TFOT)

1) 259000
2) 20P=T
3) 3300
4) 39390

1 78)

78. 2,00 WOFEIT LPRODY HAT o),
JAR Q0T 308 WE o:bmez IS Q0T
R0o%e&ATT, wae FotesnY JUG
LN &ert WwBoRWTIT

DON
MET
LAP

PEG
23
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(Questions : 79 — 80) (g%m : 79 - 80)

Directions : Given below are two matrices TALIND : 33 BN @gcjmﬂmﬁmocg
containing letters. The rows and the columns S efech) mg@gﬁgﬁ:}%‘ 5@%53, S&JS@@ |
are numbered 1 to 4 in Matrix | and 5to 8 d@ 1003 4 m:g mg@g Il d@ 5003
in Matrix Il. Each letter from these matrices 8 ;jogjéﬁeg)ocs OING  TOINR mggo
are represented first by its row number and 503571%333 TNRWEBIT. 5%3 3030 wg

next by its column number. @55553 m@@ SOET T Nogﬁ mgg
Ex : Letter “O” is represented as 14, 23, 5036 @CSCS Nogj Nogj o000 N@gg,ch
31, 42. SV : @gd ‘0" 3, ooeﬁ BRWBAT :
14, 23, 31, 42.
112|134 5|67 |8
1IM|E|N|O SIA|T|I |R
2IN|IM|O|E 6|11 |R|T|A
3|O|N|E|M 7| T|A|R|I
4 |E|O|M|N 8|IR| I |A|T
Matrix - | Matrix - ||
Ze,8 - | =02, 3 - |l
79. Which set of numbers will represent  80. Which set of numbers will represent
theword RATION ? theword INMATE ?
T Fo23Ne oz RATION QO 030 Foa3niY neezy INMATE 200
BTT, ARWIT ? TETD, ARWAIT ?
1) 77, 55, 88, 78, 42, 34 1) 65, 44, 11, 87, 77, 24
2) 85, 87, 56, 57, 24, 44 2) 78, 13, 34, 55, 67, 23
3) 66, 76, 75, 65, 14, 21 3) 57, 21, 43, 66, 88, 12

4) 58, 68, 67, 22, 31, 13 4) 86, 32, 22, 68, 56, 41

24



GMAT(K-10) N O A

(Question : 81) (géi’oz : 81)
81. Direction : When the given figure is 81. 2R3 : LI 3335:% 5@%@@37@73
folded as a cube, which one of the . “ g,
formation of cubes shown below is NOT ?@Nmﬁ o9 et ol
POSSIBLE ? PG TITOHD WY 7

I [I

o> 1Ol

(Question : 82) (|3, : 82)

% Gibe aro shown trough thioe folded 52 SRUENS : o AT 03
cubes. Among the alternatives, identify mg\)rﬁ%ﬁm& OTT THRT R
which one of the figures represent the TINY DRVT SRCORT. BRI

unfolded cube. TOIPE CDNTY R FTIT3 WHID,

OIRYTD BRWTZ Q0T THTOER.
AlC

e> .
REENE
2) A

1) B E|C
E|D|F BID|F

3) AlB|C 4) AlD
FIE|D B|C

25
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(Question : 83) (B3, : 83)
83. Direction : Two positions of the dice are 83. TR : WO YT ITE m@éﬁ%ﬁ@c{
shown below. When face with 3 dots B YN BRe0AT. 3 WMDY
is shown at the top, which face will be DXNENEY dse%ﬁd@’ facéd 035233

at the bottom? =00 IPLNTY I ?

e @ ® @ ®
® @ ® ° ® @ ¢
1) 2) 3) 4)
(Questions : 84 — 85) (@%ﬁ@o : 84 - 85)

Directions : Answer the following questions ~ ZRIJN @ 85 IR BRLTR IJNAON
based on the sequence of numbers / letters ~ ROBNY/ WFTNT FTID ST e
given. @OZOA.

84.41919723616822428177428181112236199

If the product of any two consecutive 035)T¢ AT ST 503%71%‘3 rbsava%@
numbers is the very next number,how wz)ne 33008 Swods ﬁo&%oSECSé’, 33
V)

many_ times such numbers occur in 000D ORY ToBRW 2RSS Boedchd
the given sequence ? T3 2 @ D bx) >

1) 8
2) 9
3) 12
4) 13

26



GMAT(K-10)
85. zebcyeanercbheucgemcaneyxcdebvcep

In the given letter sequence, if all the
“e”s from letter z to g are changed to
“c” and all the “c”s from letter g to p
are changed to “e”, how many “c”’s
and “e”’s will occur respectively in the

BRLITHS ©ET ATedohY 2 V0T gAR A
AR “e” NERY, “c” R wRdR D g
BT p [N QLR AR “c” nesd, “e” i
2BOTR BSECHY FHTWN I, “c” D

sequence ?

(Questions : 86 — 88)

Directions : The following questions are

based on the given intersecting figures.

“e” Reb WIS ?

(J3no : 86 - 88)
BRWIND : 33 TENT TINWD RLTOT
NLAEININ 7 3NIIY, BP0,

86. How many numbers are enclosed in

only two figures ?

AT ToLBne HTW $FINCY Tng

QI ?
1) 5
2) 4
3) 3
4) 2

87. Which of all the three shapes have
“14” inside ?

CiRET Thede EFInELR “14” AT ptect

QTHITI ?
1) LI,V
2) 11,1V, V
3) 1L 1, IV
4) 1, 1V, V
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88. Which one of the following statements
is true ?

1) The number 12 is not inside all the
three shapes |, Il and IV

2) The number 3 is inside all the three
shapes I, Il and llI

3) The number 13 is inside all the
three shapes |, Il and IV

4) The number 4 is inside all the three
shapes I, IV and V

(Question : 89)

89. How many blocks are unseen in the
given figure ?

.

(Question : 90)

90. To calculate the average rainfall in
the second week of August 2018
in Bangalore, the following data is
given. Decide whether the data given
is sufficient.

. The average rainfall of first four
days of the week is 147 mm.

Il. The average rainfall of last three
days of the week is 133 mm.

1) Data in | only is sufficient

2) Data in Il only is sufficient

3) Datain | and Il together are sufficient
4) Data in | and Il are not sufficient

28

88. B3 $UNT TePINTY CIRJYTH

TOC3NT ?

1) Sedw $T3RHL |, 1D Vo
WONR %ogﬁé 1299

2) 1, 113 1l oede 83 eny =Tt
309323 3393

3) I, 1B IV&e3de ©3ene A=t
50935 1323

4) 1, IV VRoede ©33ne =Tt
ﬁoaﬁé 4933

@% 89)

89. %.raééd:ﬁ IR FLOTIE YT WY N
503323033534 TOTHLROND.

1) 9
2) 8
3) 7
4) 10

@% : 90)

90. BonsedsY esn*js 2018 T HTTWRC
SxCe/ald) W00 D KoPKO TIREITRY,
B0@R0H TYNT wnooéoﬁomel
QETONT. B3 TSN TOTMRY)TC
QNOTH AFEOA.

l. 300 HRTV TR, Asne Zoexd
0P TT5re 147 W.WC. AT,

Il. 5O0% RVCH &R ARNY FTIO
e T=o0re 133 w.awe. ATI.

1) m@s BPRLE TRE, WFTNOZT

2) |Id®5 R0 ms "?Rméd

3) maucﬁ@s 2083 Z080d
W@ﬁasd

4) 1393 IBYF 2.6 Fw
ROROY

9
(06
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(Questions : 91 — 93)

Directions : The words are given under
Column — |. Their codes are given under
Column — Il without following the same order
as in Column —|. Find the codes for the
letters of words in Column — | and find the
codes for the given words in the questions.

Column -1
How -1
SUN
CAP
NAME
GOLD
STAR
ROAD
91. MASTER
1) aklbxd 2) kmsixn
3) bxldcf 4) aklixn
92. SOLUTE
1) mcxban 2) lcfbix
3) snbima 4) lcfbax

(Questions : 94 — 95)

Directions : In the following questions a
set of two figures is given as problem figure.
Find which one of the following alternative
figures would be formed, if the first figure is

superimposed on the second figure.

&\

1)

LD EXD

2)

29

00O RO
@%m%o : 91-93)
TRUWEIND goap’—l o 3R mmfm&
%Jaééd. 8 TG ﬁo%eérﬁ@m‘& S_ooaj =i
3 YN 3R B8 FodeINEd o - |
o] wdﬁ%fcj)ﬁ eﬁgdm?ﬁ WODBFOTONG.
goaj—ld@dow ONS @gdﬁ@?ﬁ 50%@3?3@{
FORLRT ag%mf@) amgpm ITINEN
ROBEBT[Z, TOTVSX.
Column - 11
gow ~Ii
ybl
kdm
axyk
fpsc
kini
sknc

93. DOCUMENT
1) scmbaxyi 2) scmbanye
3) kambxyef 4) fcnbaxyi

(JBnss & 94 - 95)

BRWRNY : 88 TN HTW BINY
BPRIONTY, TP TwoN TRWT.
BINTY NIRTOIOD LTI, DTIFIOD
23 Hed VLN ERLIT TIEODRYY
CRAOTN WSWI,—~ TOWERRND.

3) 4)
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95.

(Questions : 96 — 98)

Directions : The following questions are
based on the numbers and letters arranged
in the pyramid pattern. Study the pattern and
complete the given analogy.

(ZBR<: : 96 - 98)

= R

Zudne : 35 $9NT TIRYRD, LONET
DTMETBY BRBIDT 0BT, R

©ICAYRY, SHORT.

B HERBBODI,

RSN ﬁ@&io‘oa‘ f*\roao’oé@”r\‘‘&z?‘ab‘ool

TROFRRDA.
1
i i1 ]
2131415186
alblcidiel Tlg
71819 101111213114 115
PIQIRISTT I UTVIW XY Y Z
16117 181197 200 21 221231 24) 25126127 28
ATBICIDI EITFIGIHEHLJITKTLIMINGTO
96. Tc8: Ve14 ER17 : ?
)LY27 2)LVY 24
38) KX 27 4)J W26
97. CP8:Ra3s FS11: ?
) UWI15 2)UH 24
3y UW 5 4 UdB6
98. 28D : 6141L ? : 513K
1) 311 | 2) 39 E
3) 310 F 4) 311 G
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(Question : 99) (g% 1 99)
99. Inordertoformthegivenellipse,which  99. 83 3¢R eRTLS A,B,C, D, E 308 F
four appropriate parts out of A,B,C,D,E neQ BT Ty, ONRTRY, EReRITRN
and F are to be combined? g
BRLITHT @co,*.:*?:ég@ LOOETHIT ?
A B C D E F
1) B,D,C,F 2) E,F,D, A
3) B,A C,F 4) A, C,E,B
(Question : 100) ("B, : 100)
100. In order to form the given hexagon, 100. 33 3R RS A, B, C, D32 ERGY
which three appropriate parts out of CIRT TNRTE FNANERY, EecRATeN
A, B, C, D and E are to be combined ?
BRI m%m@ommgd ?

)<

A B C D E
1) A, C,D
2) A,B,E
3) B,D,E
4) C,D, E
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wz;a@?r{@ﬁ BRWINLD
1. 28 b.oar.so. (OMR) ev3s B83 08 100 BRI T3, BRIoDI, AR VeESRNT.

2. 2Ty TIJNW TEYOD. TG TJH 8.0 BOTIT.

3. ToeTy WTHONY,

* TS TJODZ, WNCHTIEWOT LOO.

* .057.50°. (OMR) Pusg B¢ I3, Bosdrt B0 BROWE ¥0ITIT, MHTSFL DEBRNTT oY,
wegﬁe; déz% ROO3PT BT wegmmq ae@/%@ JO0WOD 230 ToOWOF FF W, YVTCIREN
B [HE. aqa%oe YOZTTI), 3T TRRT S WTUROVHLY VRVFTINY ) 030HTe OING

DAY, b.03F.507. (OMR) 20338 @Ededh e SnBZRED.

* v : 20 B¢ TP O wITRY ok, B0, 3 8NFY t.axmr.ur. (OMR) Busg &g 3=,
DeD/BF) P TOOWOEF B YOTOILEN BIIR, 3T TR, B PR S30e0ATOZ

TOTRIF N DoWLIeR.

200 1) @ @ @) (> WP TNI)

4. 20w TIR YITHON 2OWOT T BJINYW, ONFY WOIT WITNFR, IHOW TONRESA
©DOBNTTY, AT WO,

5. Lowr.so. (OMR) Rudd N0 F9aY opcr Tne 38k Hedwwosd ITTe b
TRTLCR.

6. WOeTy WBY WONT F0BT OB tu.wiT .80, (OMR) Rz, dese Hedmwssonr Te
WRLRBTI.

S} Q

7. TOeTy B3R TLYSWT’, IRWST TRTIOLONT, VRWRTE FSTWIT LUTFTLNG),
THPYT, HCPAT.

8. ¥POT TP, TJIINCY oIPPTe  FTVAN NWHPATY T3, BEFOD QYONT TRTOITHC
©08N[|OTH  &POLIER.

Note : English version of the instructions is printed on the front cover of this booklet.




